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Chapt;,szec‘tion 2.1, Question 2 N(_),)

The figure below shows N=T(t) , the number of farms in the US! between 1930 and 2000 as a function of year,
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(a) Is f (1970) positive or negative? What does this tell you about the number of farms?
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That means that the number of farms in the US was T in 1970 .



Chapter 2, Section 2.1, Question 5

2
The distance (in feet) of an object from a point is given by s(t) =t , Where time ! is in seconds.

—

(a) What is the average velocity of the object between t=28 and = 107

The average velocity between { =8 and =10 js { g

(b) By using smaller and smaller intervals around 8 , estimate the instantaneous velocity at time t=28 .

— -

Round your answer to the nearest integer.
—

The instantaneous velocity at t=28 is about é ft/sec.
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Chapter 2, Section 2.2, Question 10

In the graph of

f in the figure below, at which of the labeled * -values is

(a) F(x) greatest? . xj
b Fx) least?
(b) east . ><L(
(c) f(x) greatest? . X{
(d) (%) least? : %
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Chapter 2, Section 2.1, Questi L(+3 ’5 A e\ﬂ%/le/\ J\”r ( CG+

Estimate P (0) i P(t) = 200(1.08)*
VQDCﬁ?/ P (s) = 100 ((03 _ v | =220

Round your answer to the nearest integer.

P'(0) = [ {

Y6y _ (5 3TRF.. -
l/ plo.00) I =(5 2
J.00) % R
—— fwﬁr P(¥) = 20-10(198) (18]
ﬁ ofdF
s Plo)= 200-14(108) -1 = 1539225



Chapter 2, Web Quiz, Question 19 ( D,ﬁ_gc e ‘Fc 47& )

Estimate | (%) atx =3 using the table below.
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Chapter 2, Section 2.3, Question 24

Consider 31} in the figure below, which gives the weight of a human fetus as a function of its age.

weight (kg)
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(a) Estimate J (20) . Round your answer to three decimal places. 9/“( - ‘ é
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Chapter 2, Focus On Theory, Question 14 /,D((/ = /: 7

X
Is the function ! (%) = 7" continuous on the interval © < X = 10>
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